SAP ABAP table V. TKA3C {Generated Table for View V. TKA3C}

V TKA3C-AUFNR = AUFK—AUFNR _0.N

{0,1}/

£0,1} L7

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

TOO1K

MANDT [CLNT (3)]
BWKEY [CHAR (4)]

TGSB
MANDT [CLNT (3)]
GSBER [CHAR (4)]

TKAO1

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

TKA3A

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

KSTAR [CHAR (10)]




